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(d) more current/doub]e current/current =6
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(b) (1) efﬁeleney = - 598
; Any twe fromi: AR
i friction i in bearlngs/wheei/ generator T
: - heatmg in gene1 ator s
' ¥ resistance in wires :
S e sp]ashmg/water loss (from buckets)
'(iii) t=70008
' ('i.\'r) Any one from: ; REEo
DAL ¢ not all the heat is transferred to the air:
E movernent of air (so greater volume heated)
. heatmg (the fabri¢ of) the barn ”
e heat Ioss to the env1ronment

5 a)' electromagnet1c spectmm

(b) (1) Gamma sterlhsmg (medlcai mstmments) _
: UItravmlet tannmg (Wlth d'sun-ray larnp) .
":Infrared treatmg injuties (usmg a heat- :
'1amp) OR linking (networked) computers
(through optlcal fibres) - :

1) longest wavelength mfrared

o hlghest frequency gamma :

'vertical/downwards acceleratmn
“(caused by grav1ty) :

_ .no unbalanced force hormontally and Vert1cal/ :
'_-_-downwards force (of grav1ty) celnop T

'j0'-162m( 16 2crn)




